Direction cosines Rotation axis
Ix = cos(a,)
ly = cos(a,)
Iz = cos(a,)
Rotation matrix
Ix2-(1-cosk) + cosk Ix-ly-(1-cosk) - |z sink Ix-1z-(1-cosk) + ly-sinx
ETREPIEE
Fyy ryrrs | = | Ixly-(1-cosk) + lz-sink ly2-(1-cosk) + cosk ly-1z:(1-cosk) - Ix-sink
f31 732733 Ix-1z-(1-cosx) — ly-sink  ly-lz-(1-cosx) + Ix-sink |-(1-cosx) + cosk
Getting angles from the rotation matrix 0<k <nx Equivalent parameters :
1slys] b= - Ix s ly'= - ly :1z'= - Iz
K = arccos(ry;+ry,+rys-1) -1<lz51 =-Xyly=-lylz=
if k=0: IfO< k< r: If k=1
Ix=0 Ix = arccos(%:(r;,-r,3)/sink) Ix = sign(r,3) cos(”2 arccos(ry,))
ly=0 ly = arccos(¥a(ry3-r3,)/sink) ly = sign(r,3) cos(¥2 arccos(r,,))
lz=1 Iz = arccos(¥s(r,q-ry,)/Sink) Iz = cos(Y: arccos(rs;))

Relevant programs : CCP4, CNS
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